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CHAPTER

Q.1

Q2

Q.3

Satellite stalion S is established during a
triangulation survey as shown in ligure

A

The angle « is equal 10
@ 0+p,+p, (6) 0B, + P,
© 0+, -, (0) 8-8,-8,

The number of independent conditions required
10 be satistied lor the adjusiment of a braced
quadrilateral in triangulation survay is

@) 2 6) 4

06 (d 8

Consider Ihe loflowing statements associated with

Iriangulation survey

L. In triangulalion survey, unknown distances
betweer slations are delermined using
tacheomelric relations.

2. Theriangulation station al which astronomical
observalions are made for azimuihs are
called Laplace slations

3. Inlerliary riangulation, the length of the sides
areinlhe range of 1010 25km

4. The length of the base line in primary
.(tiangulalion 5810 12km

Of the above staiemenis

{a} 1and?2arecorrect

(b} 3and 4 are correct

(¢) vanddare conrect

{d) 2and 4 are comrecl
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Q.6

Q.7

Q.8

Qe

| Surveying and Geology

Triangulation

Pick up the incorrect statement from the foliowing.

Inaspherical lriangle

{a} everyangle is less than iwa right angles

{b) sum of the three angles is equal lo two right
angles

{c) sumofthethree anglesisless than six right
angles and greater than tworight angies

{d} if the sum of any wo sides is r, the sum the
angles opposite (o them s also xr

According lo Napier's Rules of circutar patls for
arigh angled triangle, sine of middie pan equals
the product of :
{a) tangenis of the two adjacent parts

{b) cosines of the two adjacent parts

{c) cosines of the two opposile paris

{d} both{a}and{c)above

If Eis the spherical excess and Ais Lhe radius of
the earlh, the surlace area of the triangle, is

(@) ’%‘5 & E
nfE "R°E
© 5 © =5

If S is the sum of three angles of a spherical
wiangle, the spherical excess equals
{a) §-90° by S-180°
{c} §-21° {dy §-3a80°

In triangulation, the besi shape of the triangle
wouldbe

{2} theequilateratinangle

(b} right angled isosceles triangle

{c} isosceles wilh Lwo base angles of 56° 14" cach
{d) isosceles with twobaseangles ol 65° 14'each

Match List{ vty List-ll and sefect the carrect
answer using the codes given below the lists;



Listd .
A. Adjusiment of surveying instruments
B. Bowditchiule
C. Triangulation
D. Bessel'smelhod
Listll
1. Bringing the various fixed parts of the
“ inslrument into proper relation with one
another
2. Solution of three-point problem
3. Measuring all the angles and the base fine
4. Balancing the latitudes and departures of
¢ lraverse
Codes:
A
@) 1
2
ey 1
3

Q.10 Aand Bare yiangulation slations 100 km apart.
" ifthe hieight of slation Aabove tha lavel surlace
passing through the mean Ievel of intervening
ground is 11 m. then the distancas of Aand B
irom the visible horizon will be respectively
{a) 3040 km and 6360 km

{o} 59.60 km and 40.40 km

{c} 40.40 km and 59,60 km

(d) 69.60 km and 30.40 km
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Q.11 The station which is selecled close to the main
trianguiation station to avoid intervening
abstruction is known as
{a) Satelie slation
{b) False station
{€) Supplementary stalion
{d) Pivol siation

G.12 In tianguialion, the network figure s a braced
quadrifateral. 1l allthe stations have been
occupied and all the fines have been observed
in bolh the diraclions, then the factor for the
strength of tix willbe
fa) 0.75
{c) 164

{b) 0.56
{d) 060

0.13 Log-sine formulais used in triangutation to check:
{a) ApexCondition (b} Angle Congdition
{c)} Side Condilion {(dy ARaol the above

Q.14 In tdangulation, the best shape of triangle is
isosceles with base angles equal lo:
{a) 80° 14’ {b) 58°14'
(c) 56°14 (d) 60° 0O

Q.15 The curvaiure of the earth surface is taken into
account anly if extenl of survey is more than
{a) 100km? {b) 160km?
{c} 200km? (d) 260km?

Answers Hai\gulatlon
1. {a) 2. (c) 3. (b) 4. {b} 5. (d)
11. {a) 12. () 13. (c) 14, {c} 15. (@)

PRI Triangulation

4 (b) 1.

Properlies of sphetical triangle

i) Anyangle <n '

(i) 2r < Sangles < 2n

{iii) Sum of two sides is greater than the third
{iv) {{ sum of two sides =

then sum of angles opposite them =1

5. (d)
NAPIER'S RULE
Sine of middle pert = produet of tangent of
adjacents.
Sine of middle pert = product of cosines of
opposites

6. {b) 7.(b) B. (¢c) 9. (c) 10.(b)

(a)

Ta have intervisibility ol slations and to achieve
well conditioned triangles. some times high
objecls like church spires, lowers, 1c. are
selected as Iriangular stalions. It becomes
impossible lo sel lhe instrument over such
stations for lack of sufficient space. Insuchcases,
some nearby slations, calted satellite stations,
are fixed and all gbservations are made (rom L.



